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Given that N is the foot of perpendicular from A4 to line /. and B is the foot of

perpendicular from P to line 1. That is. PBand AN are perpendicular to line / and
APBN = £ANB=90°.

Since. £PBN = £ANB =90° and ‘E V6 = ‘H‘ and PA is parallel to line 1.

Hence, PANB is a rectangle.

Method 2: Show [P4]

2y

[P = 246 = [BN] from ()

Given that N is the foot of perpendicular from 4 to line /. and B is the foot of

perpendicular from P to line /. That is, PBand AN are perpendicular to line / and
APBN = £ANB=90°.

Since. £PBN = £ANB =90°. and

Hence. PANB is a rectangle.

245 [P and [P - [55].
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The expression measures the area of a parallelogram. that has O4 and OB as its
sides.
OR

The expression is twice the area of triangle OAB.
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The points 4 and B are (I —2, 4) and (6. 0. 8) respectively. Line [ is defined by the

2
equation r=0B+4| -1, 1cR.

1
() Find the length of projection of 4B on line I [
(i) Find the acute angle between 4B and the x-axis. 3]
(iii) Find the shortest distance from 4 to line /. 21

(iv) Given that N is the foot of perpendicular from 4 to line 1. and B is the foot of
perpendicular from a point P (5, —4, 6) to line I, identify the shape of the quadsilateral
PANB. justifying your answer. &)

) Find ‘07 xﬁ‘. and state the geometrical meaning of this expression. 3]
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Length of projection =————
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6=41.8° (to 1 dp)
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(iii) | Shortest distance from A4 to line /
2

ABx| -1
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Alternative solution

Using Pythagoras’ Theorem.
Shortest distance from 4 to line /

(5] (46

()

Method 1: Show PA is parallel to [
1) (5) (4 2

Pi=

4 6 -2 1
Therefore. PA is parallel to line I.





